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1. The quotient when3dis divided by 1 is
(i) 5d (ii) 3d (iii) 4d (iv) 0 (v) 2d

2. The quotient when  is divided by(r—9)is
(i) (2r+9) (i) 9 (iii) (=r+9) (iv) (r+9) (v) (4r+9)

3. The quotient when(4t—1) is divided by (£—8) is
(i) 5 (i) 3 (iii) 6 (iv) 4 (v) 2

4. The quotient when(—2)"2 —7f+2)is divided by (f—9)is

(i) (=4r=25) (ii) (=Ff=25) (iii) (=3f=25) (iv) (=25) (v) (=2f=25)

5. The quotient when (=5 V245 v) is divided by (v—=9) is

(i) (=7v—=40) (i) (—4v—40) (iii)) (=5v—40) (iv) (-6v—40) (v) (—=3v—40)

6. The quotient When(7y3+6y—4) is divided by(y2 +7y—8)is

(i) (4y—49) (ii) (7y—49) (iii) (10y—49) (iv) (8y—49) (v) (6y—49)

7. The quotient When(—224+7z3—22—6z+3) is divided by(22—52—24) is

(i) (=42%2-32-64) (i) (=322-32-64) (i) (—=z2—=32-64) (iv) (=22%2-32-64) (v) (—32—64)

8. The quotient when(5y5+4y4—5y3+8y2—5y+7)is divided by (y+7)is
(i) (4y*=31)3+212)2-1476y+10327) (i) (8)*—31)3+212)%2-1476y+10327)
(i) (6y*=31)3+212)2-1476y+10327) (iv) (5)*4—31)>+212y2-1476y+10327)

(v) (3y4-31)3+212)2-1476y+10327)

9. The remainder when5 b is divided by (—6) is
(i) 0 (i) 2 (i) 1 (iv) (=1) (v) (=2)

10. The remainder when(—3y4+7y3+7y—2) is divided by(y2 —-7y+10)is

(i) (=332y+678) (ii) (—326y+678) (iii) (—=329y+678) (iv) (—328y+678) (v) (—330y+678)

11. (6x3+9x2—6x—9) +(3x2—3) =

(i) (2x=3) (i) (=2x+3) (i) (x+3) (iv) (2x+3) (v) (3x+3)
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(—12x*—26Xx3+34x2+10x—6) + (—6x3 —10x2 +22Xx—6) =
(i) (x+1) (i) (=2x+1) (i) (2x=1) (iv) (3x+1) (v) (2x+1)
(—18x° —48x% +60x% +18x—12) divided by (-6 x> —12x%2 +6x+12) =

(i) 3x2+2x+1) (i) 3x2+2x—1) (iii) (3x%=2x-1) (iv) (3x2+3x—1) (v) (3x2+x—1)

(36)(3y2 +144x2y3) +bxy=

() (6x2y+24xy2) (i) (6x2y+24xy32) (iii) (6x2y+24)3) (iv) (6x3)2+24x)2) (V) (6x3y3+24xy2)

(48x3y224+16x3y223+192x2y223) + 4xyz2 =
(i) (12x2yzz+4xy22+48xyz) (i) (12x3y322+4x2yz+48xyz) (iii) (12x3y222+4x2yz+48xyz)

(iv) (12x2y22+4X2yz+48xyz) (v) (4x2y222+12x2y22+48xyz)

Factorize and divide (324 x% —1224x% +900) + (18 x%2 —48x+30)

(i) (15x2+48x+30) (i) (19x2+48x+30) (iii) (18x2+48x+30) (iv) (17x%+48x+30)

(v) (21x%+48x+30)

Factorize and divide(8x4+24x3—174x2—188x—48) +(—x2—2x+24)

(i) (-8x2—8x—2) (i) (=8x2+8x=2) (iii) (=8x2+2) (iv) (=2x2+7x+4)

Which of the following are true ?

a) If p(a) = 0, then (x + a) perfectly divides p(x)
b
C

If the degree of p(x) is less then the degree of d(x), we should not divide p(x) with d(x)

)
)
) If p(x) is divided by (x - a), the remainder is p(a)
)

the divisor
(i) {b,c} (i) {a,c,b} (i) {a,b} (iv) {a,d,b} (v) {d,c}
(2x4+)(3)+)(2

() (XP+x) (i) 2x2+x) (i) 2x2+2x) (iv) 2x2=x) (V) (=2x%+x)

(8x4+12x3+4x2) + (2X%2 +x)

(i) (4x2+5x) (i) 3x2+4x) (i) (=4x2+4x) (iv) (4x2—4x) (V) (4x2+4x)

(X} +4x3—44x%-96x) + (X% +2x—48)

(i) (X2+3x) (i) (x2=2x) (i) (xX2+2x) (iv) (=x2+2x) (V) (X2+x)

d) Division of a polynomial with another polynomial stops when the degree of the remainder equals the degree of
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1) (ii) 2) (iv) 3) (iv) 4) (v) 5) (iii) 6) (ii)
7) (iv) 8) (iv) 9) (i) 10) (iii) 11) (iv) 12) (v)
13) (ii) 14) (i) 15) (iv) 16) (iii) 17) (i) 18) (i)
19) (ii) 20) (v) 21) (iii)
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